Statement and Argument
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An argument made in favor or opposition of a
statement that is genuinely related to the
statement, as well as substantiate the truth, is
called a strong argument, whereas an argument
made in favor or opposition of a statement that is
not directly related to the statement, as well as
does not prove the truth of the statement, is called
a weak argument.

It is very important to consider the following
points to identify and solve the questions related
to the statement and argument.

The arguments which are directly clear.
Those arguments are based on truth.

The arguments which are true from scientific
point of view.

The arguments which are in conformity with
the rules, laws and ideas stated in the society.
The argument which has a clear meaning.
Arguments that are not at all comparable.
The argument which does not represent the
questioner.

In the questions related to statement and
argument, there is a statement and two
arguments are given below it. You have to consider
both the arguments and logically decide which of
the two arguments is strong and which is weak.
Strong arguments are directly related to the
statement and they are also useful for the
statement, while weak arguments are not directly
related to the statement and are not important to
the statement.
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Directions (Q. 1-25): In making decisions about
important questions, it is desirable to be able to
distinguish between ‘strong’ arguments and
‘weak’ arguments. ‘Strong’ arguments are those
which are both important and directly related to
the question. ‘Weak’ arguments are those which
are of minor importance and also may not be
directly related to the question or may be related
to a trivial aspect of the question.

Each question below is followed by two
arguments numbered I and II. You have to decide
which of the argument is a ‘strong’ argument and
which is a ‘weak’ argument. Give answer:
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Give answer/3T SifSiu:

(@) if only argument I is strong.
g wact 7 1 39 7

(b) if only argument II is strong.
% ®oa 7 11 39 €
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if neither 1 nor II is strong.
I = ot 7k 19 & 11 3

if both I and II are strong.
afe T 1 3R 11 < 3 §
Statement /| ®YA:

Should hand baggage on all international
flights be permanently banned?

F1 gft =g SeMl ¥ e % Ol W T w9 9
Tk oM & S =T

Arguments / T&:

I. No, it causes a lot of inconvenience since

items of minimum requirement need to
be carried during long- haul flights.

T2, 7 g Sl A & ke o g % Ser
o = Sl Hi e of ST gedt 7

II. Yes, it is necessary to ensure security of
passengers on board.

B, A6 Y @ AT b1 qRen gitvea s & forg
TE AETTSH T

Statement /| ®YA:

Should there be a complete ban on bursting

crackers including fireworks barring a few

occasions in our country?

F TR 39 H KD AT I BigHT fawmarsi dfea

JerE I W Ui Yfaay B =fee?

Arguments / T&:

I. No, people should be allowed to enjoy on
all occasions according to their interests
and priorities.

T, i oh1 Tt ST W 7ot %o ok werfhaed
% STUR T S &I Iqufa gt =ifeul

II. Yes, bursting crackers causes a lot of
sound and air pollution which is
hazardous to health.

&, T2 JH ¥ Fgd S et SR ar wguon
Bl ® S wRed & o e 2

Statement /| ®YA:

Should the women be advised not to travel

alone at night in view of the increasing

incidences of rape and sexual abuse?

F TEAHR 3R A IedieT H1 agdl g2 ueAsl &
HROT Afgenet 1 Td § Thal AN &l HH HI AR
3 ST =fET?

Arguments / T&:

I. No, instead the Government should take
measures to control such incidences.

Y, 39 T W R 1 TH weed i e
wH % I HE =E
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II. Yes, it is difficult even for the police
department to control such cases.

1, gfera faum & forg off telt s w fesm
T gy 2l
Statement /| % 9A:
Should the current practice of presenting
budget be changed?
I TSI A FT T SN kT 98 T ST =fee?
Arguments / T&:
I. Yes; we are carrying it since pre-
Independence era.
¥, &1 38 Wawa-7d % 999 9 @ ® R
II. No; the present practice of presenting
budget is citizen-friendly.
&Y, a5 T T T TAHM ik Al 2
Statement / % 9A:
Should the number of holidays given to Govt
employees be reduced to only five in a year?

T TR FHHANA ! ST S el ST ohi G
I TR T g9 H wad 99 HL A AMfen?
Arguments / T&:

I.  Yes, such holidays subsequently reduce
working hours, thus adversely affecting
the economy of the nation.

1, Y STIhT 3T TRt FTH F & w2l i A
F T SN THYRR 39 T SrefeTaeen W giawa
HE Tl 2

II. No, employees require intermittent rest
from hectic work schedule.

TR, FHHAE ! oIS fTadl § THa-90d W
o™ 1 TEvashar Bt 2

Statement / ®:

Should cricket replace hockey as the

national sport of India?

1 fshehe 1 YR & TET T & €9 | eieh! 1 faeenfua
T 31 =MME?
Arguments / T&:

I.  Yes, the performance of the hockey team
has been dismal for the last few years.

71, fommd s oot | it 2| 1 Yeui s
@ 2

II. No, cricket is the national sport of
Australia and no two countries must
have the same national sport.

T, fFde i ®1 T Od © iR | 3w
&1 T & T O Av=d &9 F T 81 gehdr
B



10.

Statement / ®Y:

Should there be only two political parties in

India?

F ARG ¥ Fad & TOHIaw I B AfeT?

Arguments / T&:

I.  Yes, in many developed countries there
are only two political parties.
1, 9ga o forhtad 29 o See < TsHifsh e 2|

II. No, Indian electorate is not mature to
select between only two political parties.
TE, RS AR & USHiae Il & e g
FH & forg a7 R

Statement /| ®YA:

Can education be ensured as a fundamental

right without tackling the problem of child

labour in India?

F ARG H a9 i g 1 9 oy fo fuan

1 Tk Hifereh ATMERR % &9 | grfvea o st weha

2

Arguments / T&:

I. Yes, the root cause of child labour lies in
the problem of depriving the child of
education.

B, ST 1 9 RO gl 1 e 9 afea
¥ fafea 2

II. No, the root causes which make a child

deprived of education are the compulsion
of its family and the circumstances
which force a child to resort to child
labour.
TS, & o wRO S a=dl 1 e 9 afed w
&, I a1 foarwman ofR & wfefqE €,
T o= i A9 H HeW o & fag foae &
2

Statement / % A:

Should ordnance factories be open to private

sector?

T ST @A b1 i & & fore @ fean s =nifew?

Arguments / T&:

I.  Yes, all the superpowers in the world
have done this.

7, fawa #1 g+t qewfwmt 2t faa 21

II. No, privatisation will lead us to the age of
thraldom and slavery.

&, Torsirentor 6 ST SR e & 71 W o S|

Statement /| % Y:

Should there be a ban on ultrasound checkup

to detect the gender of the child in the womb?

w1 H § w=d & T w1 ahe w3 % fae e S

T ALERPS | Hfqaen g =nfeu?
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11.

12.

13.

14.

— SAFALTA CLASS

An Initiative by 3THIISTIcTl

Arguments / Th:
I.  Yes, it will hamper the sex ratio.
1, I Tamgaa =1 THaH aganel
II. No, this will suppress the freedom of the
human beings.
e, 98 WS WIH I FAAA H1 AT BT
Statement / % 9A:
Should there be a ban for the second term of
presidency?
F UM % TR FHEGA TR gfaaen gH1 =nfew?
Arguments / T :
I.  Yes, new persons must be given chances.
B, T AN R R T eEER fRu S =nfeu
II. No, we should never make any changes
in the Constitution made by forefathers.
T2, TH qaiil g1 ST T AU | giad T8
T =BT
Statement / ®¥A:
Should women be given equal opportunity in
matter of employment in every field?

F1 IE &5 H TSR & A | Afgenet sl §A e
saeR feu s =nfew?
Arguments / T :
I. Yes, they are equally capable.
g, 3 ff 999 €9 9 9 2
II. No, they have to shoulder household
responsibilities too.
&, 5% e o o e g §)
Statement / ®:

Should seniority be the only criterion for the
promotion?
I W= & AU s 81 THA Aee BT =nfeu?
Arguments / T&:
I. No. All the senior employees are not
interested in promotion.
T, weft aftss wee gt o e e 2
IT. Yes. Otherwise senior employees feel
humiliated.
B, 3T A HEAN STIHId Aeqd |
Statement / % 9A:
Should there be a ban on using mobile
phones while driving vehicles?

F1 A TA THA WIS 29 hT GAN w7 dfsid
T =feu?
Arguments / T&:

I. No. This will affect the basic purpose of
keeping a mobile phone.

T, I WeTEd 21 WA & T S 1 geifed
L

II. Yes. Doing two works simultaneously
should not be permissible.

B, THE §1 T HH H1 STA T S =feu)
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Statement / % A:

Should India acquire/manufacture the

latest nuclear weapons?

T IRA i, ST TLET] ¥l w1 fmior s

=1feu]

Arguments / T&:

I.  Yes, the enemies of India are improving
their weapons continuously.
B, 9Rd & ¥ @A & TR § PR guR o ®
Ed

II. No, it will be against our policy of
maintaining world peace.
et 7% A fova wnfa sAw @ w1 Afa ®
fooda =

Statement / :

Should animals be killed in the name of

laboratory experiment?

T AR T&0T o ST SIeR] sl W ST =feT?

Arguments / T&:

I.  Yes, they are available in abundance.
g, 3 T ° Suers 2

II. No, we have been supporting non-
violence on every step of our lives.
&, B9 e[ & YdS® "ie W EHn H1 gHeA
HW T T

Statement / % :

Should the prestigious people be met with

special treatment by law if they have

committed crime unknowingly?

1, FIs o gfafssa safe S STHEHT | STIe

YAl € SHF T FIA i {90 HaeR H =MEy?

Arguments / T&:

I.  Yes, because the prestigious people do
not commit crime intentionally.

7, Fife gfdaftsd =afa grr faan o srowme
SRt foar T 2 e 21
II. No, itis our policy that everybody is equal
before the law.
&, g Hifq 2 for & ® 9w w9l guE 2
Statement /| :

Should India become a permanent member of
UN’s Security Council?

T ARG T G T T GR&T qRug F1 @Rl 98
TR ST =18w?
Arguments / T&:

I. Yes, India has emerged as a country
which loves peace and amity.
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19.

20.

21.
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II. No, let us first solve problems of our own
people like poverty, malnutrition.

TEl, T TEe oH 1O HEEe T U spur
T GHTEM T A8
Statement / % e:

Should the parents of those children who do
not send their wards to school be fined?

1, T8 At o wr-faar 1 s 3% foamem ® @

5 ¥, sfeq wem wifEe?

Arguments / T&:

I.  Yes, this is the only way to eradicate illiteracy.
&1, 98 FRerdl S<geF 1 T 9 An 2

II. No, why should the parents be fined?
T2, wr-faan w1 = 3fed wE =fen?

Statement / % e:

Should there be a total ban on all tobacco

products in India?

T A H e, o TR Scra) I G U O & ST =feT?

Arguments / T

I. No, this will render a large number of
people jobless.
T, TE8 N € T § A0SR & S

II. No, the government will lose huge
amount of money as it will not earn by
way of taxes on these products.

e, SRR 1 TS T hY Bl SN S o 57 SRl
T w0 & w0 F A w2

Statement /| ®A:

Should there be only one rate of interest for

term deposits of varying durations in banks?

=1 Tl srafert = wafy so st & fog saa

T B A Al Afey?

Arguments / T :

I. No, people will refrain from keeping
money for longer duration resulting into
reduction of liquidity level of banks.

&, @ fefafy & fem o7 St § T @i eiv
OROTHA: ST 1 Tl (Liquidity) T &R H B

II. Yes, this will be much simple for the
common people and they may be
encouraged to keep more money in banks.

B, 7€ W A % T ARl TR BN AR Aehi
T oifus o9 W & o 9 ufika il
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